SRI SHRIDEVI CHARITABLE TRUST (R.)

SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY

SHRIDEVI

(An ISO 9001:2015 Certified Institution), Recognized by Govt. of Karnataka.

Sira Road, Tumkur - 572 106, Karnataka, India.

(Affiliated to Visvesvaraya Technological University &

Approved by AICTE, New Delhi Vide 06/06/KTK/ENGG/02/017 Dt. 27-05-2002)

Phone: 0816 -2212629 / Principal : 0816-2212627 Tele Fax: 0816 - 2212628



e-mail:info@shrideviengineering.org, principal@shrideviengineering.org
Ref: SIET/VTU/2020-21/

10-03-2021

Website: www. shrideviengineering.org

To
The Registrar,
Visvesvaraya Technological University,
Jnana Sangama,
BELGAUM - 590014.

Sir,

Sub: Furnishing the list of students admitted to I year B.E and II year BE Lateral Entry for the Academic year 2020-21 and Remittance of Registration and Eligibility Fees – Reg. Ref: Your office letter No: VTU/BGM/OS-Aca/Cirs/2020-21/5660 dated 01-02-2021

With reference to the above subject, we are herewith furnishing the list of students admitted to I year B.E and II year Lateral Entry for the approval of Admission for the Academic year 2020-21. We have made the payment of Rs.9,07,275/-(Nine Lakh Seven Thousand Two Hundred and Seventy Five) only though <u>SBI online</u> Ref: No ______ on dated _____towards Registration and Various Academic fees for the academic year 2020-21.

Abstract	No. of	Amount	Total
m · 10==	students	per student	Amount
Total CET Students	44	4,575	2,01,300
Total SC/ST CET Students	26	7,575	1,96,950
Total Mgmt. Karnataka Students	35	7,575	2,65,125
Total Mgmt. Non Karnataka Students	14	9,075	1,27,050
Total Mgmt. Foreign Students	-	19,075	
Total Diploma CET Students	04	4,075	16,300
Total Diploma SC/ST CET Students	03	7,075	21,225
Total Diploma Mgmt. Karnataka Students	10	7,075	70,750
Total Diploma Mgmt. Non Karnataka		. , , , ,	70,730
Students	01	8,575	8,575
TOTAL	137		9,07,275

This is for your kind information.

Thanking you

Yours Sincerely,

(Dr. Narendra Viswanath)

PRINCIPAL.



CANARA BANK (R.T.G.S/N.E.F.T FORM)

Date: 29-03-2021

Name: SHRIDEVI INSTITUTE OF ENGINEERING TECHNOLOGY

Type of Account : C/A

Account No: 5289201000003

IFSC CODE of the Bank: CNRB0005289

ChequeNo: 402536

Details of Beneficiary

Bank: ICICI BANK

Centre (Location): TUMKUR

Name: MALLANAGOUDA S PATIL

Account No: 5241930084333018

Type of Account: S/B

IFSC CODE of the Bank: ICIC0000103

Amount to be remitted: Rs.12,50,000/-

THE TELL CANABABAN

Signature of Applicant

Mobile No.9740083457





VISVESVARAYA TECHNOLOGICAL UNIVERSITY

JNANA SANGAMA,, BELAGAVI-590018

Date: 27-Mar-2021

e-Receipt for State Bank Collect Payment

SBCollect Reference Number DUE6326651 Category D-FEES TO BE PAID BY COLLEGES -UG COURSES NAME OF THE COLLEGE SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY TUMKUR COLLEGE CODE 1SV CONTACT DETAIL 9686114899 PLACE **TUMKUR REGISTRATION FEE** 267000 **E LEARNING FEES** 265000 **E CONSORTIUM FEES** 102750 SPORTS FEES 13700 SPORTS DEVELOPMENT FEES 20550 CARRIER GUIDANCE AND SERVICE 2740 **FUND** UNIVERSITY DEVELOPMENT FUND 68500 **CULTURAL ACTIVITY FEE** 6850 WOMEN CELL FEE 685 **ELIGIBILITY FEES FOR KARNATAKA** 122000 **ELIGIBILITY FEES FOR NON** 37500 KARNATAKA Transaction charge 53.10 Total Amount (In Figures)

Total Amount (In Words)

Remarks

9,07,328.10

Ten Only

Rupees Nine Lakhs Seven Thousand Three Hundred Twenty Eight and Paise

ELIGIBILITY AND VARIOUS ACADEMIC FEES OF UG COURSES 1ST YEAR AND 2ND YEAR LATERAL ENTRY FOR THE YEAR 2020-21

SRI SHRIDEVI CHARITABLE TRUST (R.)

SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY



(An ISO 9001:2015 Certified Institution), Recognized by Govt. of Karnataka.

Sira Road, Tumkur - 572 106, Karnataka, India.



(Affiliated to Visvesvaraya Technological University & Approved by AICTE, New Delhi Vide 06/06/KTK/ENGG/02/017 Dt. 27-05-2002)

Phone: 0816 -2212629 / Principal : 0816-2212627 Tele Fax: 0816 - 2212628

e-mail:info@shrideviengineering.org, principal@shrideviengineering.org

Website: www. shrideviengineering.org

Ref: SIET/VTU/2020-21/

10-03-2021

To
The Registrar,
Vivesvaraya Technological University,
Jnanasangama,
BELGAUM.

Sir,

Sub: List of students admitted to First Year MBA and M.Tech for the academic year 2020-21 - Reg.

Ref: Your Office Letter No: VTU/BGM/Aca- OS/PG- Cirs/2020-21/5661 Dt. 01-02-2021

With reference to the above subject, we are herewith enclosing list of students admitted to First Year MBA and M.Tech for the academic year 2020-21 of Government Seats & Management Seats in Annexure I,II, III & V along with Original Marks Cards and attested Xerox copies along with SBI Online payment Acknowledgement Reference No: ______ for Rs. 3,36,950 /- (Three Lakh Thirty Six Thousand Nine Hundred and Fifty only) towards Registration and Eligibility fees.

Abstract	No. of students	Amount Per Student	Total Amount
Total PGCET Students MBA	5	4325/-	21,625/-
Total PGCET SC & ST MBA	1	7825/-	7,825/-
Total MBA Management Seats - K	33	7825/-	2,58,225/-
Total MBA Management Seats- NK	01	9325/-	9325/-
Total PGCET Students M.Tech	2	4325/-	8650/-
Total PGCET SC & ST M.Tech	2	7825/-	15,650/-
Total M.Tech Management Seats - K	2	7825/-	15,650/-
Total M.Tech Management Seats -NK	0	9325/-	-
TOTAL			3,36,950/-

Thanking you

Yours Sincerely,

r. Narendra Viswanath)

PRINCIPAL





VISVESVARAYA TECHNOLOGICAL UNIVERSITY

JNANA SANGAMA,, BELAGAVI-590018

Date: 27-Mar-2021

e-Receipt for State Bank Collect Payment

SBCollect Reference Number

DUE6331171 Category D-FEES TO BE PAID BY COLLEGE FOR P G COURSES NAME OF THE COLLEGE SHRIDEVI INSTITUTE OF ENGINEERING AND TECHNOLOGY TUMKUR COLLEGE CODE 1SV CONTACT DETAIL 9686114899 PLACE **TUMKUR E CONSORTIUM FEES** 69000 SPORTS FEES 4600 SPORTS DEVELOPMENT FEES 6900 CARRIER GUIDANCE AND SERVICE 920 FUND UNIVERSITY DEVELOPMENT FUND 23000 **CULTURAL ACTIVITY FEE** 2300 WOMEN CELL FEE 230 **ELIGIBILITY FEES FOR** 45000 KARNATAKA **ELIGIBILITY FEES FOR NON** 2500 KARNATAKA

Total Amount (In Words)

Total Amount (In Figures)

Transaction charge

Rupees One Lakh Fifty Six Thousand Two Hundred Seventy Two and Paise

Fifty One Only

1,822.51

1,56,272.51

Remarks ELIGIBILITY AND VARIOUS ACADEMIC FEES OF PG COURSES FOR

THE ACADEMIC YEAR 2020-21

Ref: SIET/VTU/2020-2021/

07-01-2021

To

The Registrar, Visvesvaraya Technological University, Jnanasangama, BELGAUM.

Sir.

Sub: Remittance of various academic fee of UG II, III & IV year students for the academic year 2020-21 - Reg.

Ref No: Your office letter No VTU/BGM/OS -Aca/Cirs/2020-21/3457 Dated: 04/11/2020

With reference to the above subject, Please find the details of students admitted for 2nd,

. 3rd & 4th year (III, V & VII Sem.) B.E. for the academic year 2020-21

	II YEAR III YEAR		2020-21.	
Branch	11 YEAR III YEAD 1575/- per student 1575/- per stu		Total	Amount
CS	87 40	, 1 - state in		(Rs.)
EC	01	41	168	2,64,600.00
EE	10	19	80	1,26,000.00
ME	10	13	60	94,500.00
IS	26	12	50	78,750.00
CV	26 0	05	31	48,825.00
Total No	39 46	39	124	
of Students	220 164	129	513	1,95,300.00
Total Amount	3,46,500.00 2,58,300.0	2,03,175.00		8,07,975.00
	2,58,300.0	00	2,03,175.00	2,03,175.00

And herewith we have made the payment of Rs. 8, 07,975/- (Rupees Eight Lakh Seven Thousand Nine Hundred and Seventy Five only) through SBI Online Payment Ref No: dated towards various Academic fees as above for the

Academic Year 2020-21.

This is for you kind information & kindly acknowledge the receipt of the same. Thanking you

Yours Sincerely,

(Dr. Narendra Viswanath)

PRINCIPAL

ವಿಶ್ವೇಶ್ವರಯ್ಯ ತಾಂತ್ರಿಕ ವಿಶ್ವವಿದ್ಯಾಲಯ, "ಜ್ಞಾನ ಸಂಗಮ", ಬೆಳಗಾವಿ

UG Fees Report for year 2020-2021

College Name: SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY TUMKUR Course: BE / B.Tech / B.Arch Sem: 3/5/7/9

No. of Students

3 Sem	E COM	7.44		
220	5 Sem	7 Sem		
	164	129	9 Sem	
	Total Fees			0
	Fees Details			
Regis	stration Fees (@Rs. 0)	3 sem	5 sem	
E-lea	arning Fees (@Rs. 0)	0	0	7 ser
Elig	ibility Fees (@Rs. 0)	0	0	0
E-Conso	ortium Fees (@Rs. 750)	0	0 .	0
Sports Fees (@Rs. 100)		165000	123000	96750
Sports Deve	elopment Fees (@Rs 150)	22000	16400	12900
Career guidan	ce & Service Fund (@Rs 20)	33000	24600	19350
Oniversity Develo	opment Fund Fees (@Rs. 500)	4400	3280	2580
Cultural A	ctivities Fees (@Rs. 50)	110000	82000	64500
Womer	Cell Fees (@Rs. 5)	11000	8200	6450
Total Fees to be paid for AY 2020-21 Rs.	1100	820	645	
		346500	258300	203175
		To	otal Rs. 807975	200173

ZI NOD-ODS

UG COURSES

		Amount -		V Sem			Amount	VIIS	Sem		Λ
Branch	III Sem	(1575 per student)	2018	2017	2015	TOTAL		2017	2015	TOTAL	Amount (760 per student)
CSE	87 🗸	137025	36	2	2 .	40 🗸	63000	31	10	41	31160
ECE	31√	48825	27	. 2	1	30 🗸	47250	16	3	19 🗸	14440
EEE	18 🗸	28350	18.	8	3	29 🗸	45675	8	5	13~	9880
ME	19 ⋅ ✓	29925	9	7	3	19 🗸	29925	9	3	12 ~	9120
ISE	26 🗸	40950	0	0	0	0 ~	0	4	1	5 🗸	3800
CV	39 ✓	61425	39	7	0	46 🗸	72450	36	3	39 🗸	29640
TOTAL	220 🗸	346500	129	26	9	164	258300	104	25	129	98040

PG COURSES

Branch	III Sem	Amount 2325 /-
MBA	44	102300
SCS	7	16275
CCS	2	4650
TOTAL	53	123225

and the Agentinopas and

ification 2

ASORTIUM FEE'S	
4750´·	
ORTS FEES	
300	
ORTS DEVELOPMENT FEES	en recent com an con con contract of the contr
950	
RRIER GUIDANCE AND SERVICE FUND	THE MANAGE OF THE PARTY OF THE WAY, I THE PARTY OF THE REPORT OF THE PARTY OF THE P
260	
VERSITY DEVELOPMENT FUND	amigination screenseen and assessment and an indirect conductive and an ind
6500	
TURAL ACTIVITY FEE	AND THE RESIDENCE OF THE PROPERTY OF THE PROPE
650	
MEN CELL FEE	CENTRAL MODEL TO A STEERING WAY A STOCK OF THE STEERING ASSOCIATION ASSOCIATIONI ASSOCIATION ASSOCIATI
55	
nsaction charge	EL TOTAL TO THE SERVE MORNING COMMUNICATION OF A METAL PROPERTY OF THE SERVE OF THE
10	
al Arrant (In Figures)	The second control of the second seco
8,02o.10	
Il Amount (In Words)	
pees Eight Lakhs Eight Thousand Twenty Eight and Paise Ten Only	
narks	
RIOUS ACADEMIC FEES OF UG COURSES FOR THE ACADEMIC YEAR 2020-21	
fication 1	
ONCE PAID WILL NOT BE REFUNDED UNDER ANY CIRCUMSTANCES - KINDLY VERIFY THE DATA E	NTERED BEFORE

BMIT THE NECESSARY DOCUMENTS ALONG WITH FEE RECEIPT FOR FURTHER PROCESSING





VISVESVARAYA TECHNOLOGICAL UNIVERSITY

JNANA SANGAMA,, BELAGAVI-590018

Date: 20-Jan-2021

Rec. ... for State Bank Collect Payment

SBCollect Reference Number

DUE1545045

Category

D-FEES TO BE PAID BY COLLEGES -UG COURSES

NAME OF THE COLLEGE

SHRIDEVI INSTITUTE OF ENGINEERING AND TECHNOLOGY TUMKUR

COLLEGE CODE

1SV

CONTACT DETAIL

9686114899

PLACE

TI YUR

REGISTRATION FEE

0

RE ADMISSION FEE

0

NSS FEE

0

TRANSFER FROM ONE COLLEGE TO ANOTHER

0

CHANGE OF BRANCH

0

FINE FEES

0

MICDATION CEC

Ref: SIET/VTU/2020-2021/

07-01-2021

To
The Registrar,
Visvesvaraya Technological University,
Jnanasangama,
BELGAUM.

Sir,

Sub: Remittance of various academic fee of II year PG (III sem) students for the academic year 2020-21 - Reg.

Ref No: Your office letter No VTU/BGM/OS -Aca / Cirs /2020-21/3457 Dated:04/11/2020

With reference to the above subject, we are herewith enclosing the list of students admitted for 2^{nd} year M.B.A & M.Tech for the academic year 2020-21

Branch Cirillo	II YEAR (2325/- per student)	Amout (Rs.)
M.Tech-Civil(Computer Aided Design Structures)	02	4,650.00
M.Tech-Computer Science Engg	07	16,275.00
MBA	44	1,02,300.00
Total	53	1,23,225.00

And herewith we have made the payment of Rs. 1,23,225/- (Rupees One Lakh Twenty Three Thousand Two Hundred Twenty Five Rupees only) through SBI Online Payment Ref No: ______ dated _____ towards various Academic fee for PG Course students for the Academic Year 2020-21.

This is for you kind information & kindly acknowledge the receipt of the same.

Thanking you

Yours Sincerely,

(Dr. Narendra Viswanath)
PRINCIPAL

ವಿಶ್ವೇಶ್ವರಯ್ಯ ತಾಂತ್ರಿಕ ವಿಶ್ವವಿದ್ಯಾಲಯ, "ಜ್ಞಾನ ಸಂಗಮ", ಬೆಳಗಾವಿ

PG Fees Report for year 2020-2021

College Name : SHRIDE	VI INSTITUTE OF ENGINEERING & TECHNOLOGY TUMKUR	Course : MBA / MCA / M.Tech / M.Arch	Sem :
	No. of Students		
	3 Sem 53	5 Sem	

Total Fees		
Fees Details		
Registration Fees (@Rs. 0)	3 sem	5 sem
E-learning Fees (@Rs. 0)	· · · · · · · · · · · · · · · · · · ·	0
Eligibility Fees (@Rs. 0)	. 0	0
E-Consortium Fees (@Rs. 1500)	0	0
Sports Fees (@Rs. 100)	79500	0
Sports Development Fees (@Rs. 150)	5300	0
Career guidance & Service Fund (@Rs. 20)	7950	0
Iniversity Development Fund Fees (@Rs. 500)	1060	0
Cultural Activities Fees (@Rs. 50)	26500	. 0
Women Cell Fees (@Rs. 5)	2650	0
Total Fees to be paid for AY 2020-21 Rs.	265	0
2020-21 Rs.	123225	, o

Nonday 91/14

Total Rs. 123225





SVESVARAYA TECHNOLOGICAL UNIVERSITY

ANA SANGAMA,, BELAGAVI-590018

ite: 20-Jan-2021

ei, or State Bank Collect Payment

Collect Reference Number

JE1545482

tegory

FEES TO BE PAID BY COLLEGE FOR P G COURSES

ME OF THE COLLEGE

HRIDEVI INSTITUTE OF ENGINEERING AND TECHNOLOGY TUMKUR

LLEGE CODE

SV

INTACT DETAIL

386114899

ACE

JI JR

EGISTRATION FEE

E ADMISSION FEE

SS FEE

NE FEES

LEARNING FEES

CONSORTIUM FEES

9500

PORTS FFES

SANCE AND SERVICE FUND

WERSTY DEVELOPMENT FUND 6500

ULTURAL ACTIVITY FEE

650

OMEN CELL FEE

65

ansaction charge

9.50

ital Amount (In Figures)

23,254.50

tal Amount (In Words)

upees One Lakh Twenty Three Thousand Two Hundred Fifty Four and Paise Fifty Only

ARCOUS ACADEMIC FEES FOR THE PG COURSES FOR THE YEAR 2020-21

tification 1

EE ONCE PAID WILL NOT BE REFUNDED UNDER ANY CIRCUMSTANCES - KINDLY VERIFY THE DATA ENTERED BEFORE

tification 2

JBMIT THE NECESSARY DOCUMENTS ALONG WITH FEE RECEIPT FOR FURTHER PROCESSING